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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

 otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

Does not exist

x°+2x+1=0 has the solution set

(D) (C) (B) (A) QUESTIONS Q-1
Al B'A™ B N In matrices (AB) '=? 4.A:U}.Jl? 1
360° 270° 180° 90° -9?ﬂ;i(d£;l}£w 2

The sum of the angles of a triangle is
. 3 ) i L LY teds |3
: The number of angle bisectors in a triangle is

23] G b g~ l?'ﬁu.'.";ufu/))’}u?//‘,»; 4
Circle Quadrant Line A plane Point on the axis do not lie in any
a’+b’ ~4ab dab | 2@’ +b?) (a+b)’-(a-b)’=? 5

= o N - = .
Nt 4 )Uifubt (lblﬁf LI i’ 2 e '%rmﬂyw‘!/j?uﬁu)'mubt/!vg .6
Napim Raffons] Surd | 4 1{?& jz;i'at;,on:ﬁ number that contain radical signs is called a
number number g\ g
T 7, -
3 2 1 0 A cubic p"!oﬂ‘lynomial is of degree -c“_t'n,.?n b’(j J /.-f"( Gnr | 7
@+1)a+1) | G+1)GE-1) | G@=1)@+1) | (a-1)a+1) -g.df(}/a4-l 8
(>+1) | Factorization of a' — 1 is
Ty ; is
3 5 i 7 -ﬁ-_;l,wJux!/’Lz.,frPr}’ e | .9
The number of methods to find the H.C.F are
A | el | e | U e b B LS AU |10
Scalar matrix | Identity matrix Column matrix | Row matrix | A matrix consisting of one row is called a
0 il -x - -g_m,,&_f/;wfo‘fd”"‘!xwﬁ 11
For each number ‘X’ the absolute value of X is denoted by
0 +3 -3 3 Solution of jx|=3 is e erfx=3 | 12
¢ Lasr | xten txb - EnZ LT |13
3 Area of a rectangle is
sx—2x’ | a-3x | x(2x-3) 0 Factorization of 2x"- 3% is e A2 -3x | .14
7 " 2 -
eSS - 1) 1.1} —eer S ax1=0 | 15
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Answer briefly any Six parts from the followings. 6x2=12

v

LB

bges ) 0 Pl
ot
Al f ez L gedf e tditn 240y

g

How many types of Algebric Expression write the names of these types. SIS AL etk T LA ®
"Find the lowest term of 1;22 ?);zz & 2 Fyr A~ G
Remove the Redical sign from the Denominator % . -\% % ' % _é/»c/wd/)g <t/F  Gid
Resolve into factors. xt4+x y2+ y4 2] Gz ) Define Factorization. _u:lZ,”f A /2 Gv)
What is the zeros of polynomial.  -&! s c.u_,)éuj 22 (vid) Factorize o i el e (v
Complete this Formula LCM=___ -/ HA L li1 (0 Define L.C.M EEw PSP 1 (vidd) |
Answer briefly any Six parts from the followings., ~ 6x2=12 . Jgf bz Lingedfetditn 340y ‘
Solve VXx+5+7=0 /S G Solve 5X—6=4x=2 S D
Solve by using factorization 6x£- 19x-7=0 _Zngfdjé(iv) Solve ix =21+ %x ijd’ Gii) 'l\
By How many Methods can we solve a quadratic equation?Name also ‘.‘J.‘.J o (t?wéf S i f g < i ehleGuy O \:_:
Solve by using Factorization Method (2x+1)(5x-4)=0 Qx+1)(5x-4)=0 -u_’/d’d/’,g{u (i) .3:
Define Square Matrix. Also give example? !‘j“)fdt‘}-!f{,y/"l}/“qw&/” (vii) 8
wB=[} Jand a=[2 7] thenfind B-A=? B-a=? Jna=[2 Jup=[; I/ Giid ;
ira=[2 3)e=[7 3] thenfing (aBY=? wpina=2 3le=[7 34 @ N
(AB) =7
Answer briefly any Six parts from the followings. 6x2=12 /2 = i;’c 17 geOf e it ARy
Define Angle and draw its Figure. M wé_b:f J)'/Z.gu.—;.‘! /7 (,( - @
Define Radius of circle and draw its Figure. 7 B LS ul’:.{..éf V. Sumle s GD
Construct a AABC inwhich m £ A =60" m £ZB =30° mZB LA=60" LU e LABC & (id)
and mAB = 6cm mAB = 6cm s ;
Define Medians of a triangle. -éuy/?g!c_.lbfnéw Gv)
The sides of right triangle are 3cm and 4cm. -wz}f&'&m}f&ﬁCm:,,éw,n}::}s.@ )
Find the hypotenuse. -ép"”él’,}g{/’:
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LB RS 1(7,-5)  (viid)
St iy n L, 1) (4,30 58 (%)

Find the volume of a cubical box with lengths 4 m, breadth 3 m
and hight 2 m.

Find the area of cquilateral triangle whose side is 8 m.

Locate (7 ,-5) in the co-ordinate plane.

Find the distanc.e between (2, 1) and (-4,3)

() N g
-q//,j’al.,ML:.«Ulfd:_Jﬁu‘J
ab+bc+ca=11s/a+b+c=6 ﬁ’épl’*a,&fa%b%cz (a)s

Note: Attempt any Three Questions. 8x3=24

5(a) Find the value ofa’+b’+¢” ifab+bc+ca=11 and a+b+c=6

(b) The product of two polynomials and their L.C.M are ‘.‘»;;g(L.C.M)g};'JL?:“J}J)’?»/}J‘K#(U{.)J/:"(JJ ®)
XHSE-x-17x+12 and X +6x°+5x-12 respectively. [ bUBUIu X +6x°+5x-12 . x4 5%’ -xP=17x412
Find their H.C.F “ZE e (H.CF)
6(a) Resolve into Factors. X°+ )"+ 2xy - 4x°)’ xX*+yteoxy -axtyt _eud sz (a6
® Solve y—6+y=0 y-6+y=0 &S ®
7(a) Solve using quadratic formula. (3 - 4x) = (4x - 3)’ G-ax)=0@x-37 EL el Hsn @7
® if A= B i] ,B = [g __21] , then find the J B'A'JxB = [g __21] VA= [g ﬂ ®)
value of B™'A™ ~2{(:l”;:..x’:
8(a) Use Cramer's rule to solve the following linear equations. ;uﬁd/).,gd,sc-,uz_nz_/dmf,@/’L/J (a)8
X+3y=6 , 2x+y=4 x+3y=6 , 2x+y=4 g/ S Ui~
(b) Construct a square whose one side is 3.5 cm. K535 (;u’/;lﬂﬁéj__.l'r.('f/-{‘ )
9(a) Find the volume of circle cone with radius of base 3cm, 2 E 33U SN F Skl (89
altitude 10 cm. -5(}"(%4%&’10 LW
(b) Show that the points A(-2, 11) B(-6,-3) and C(4,-9) L1C(4,-9) 11 B(-6,-3)A(-2, 1) bBSZE el (b)

are of a Scalene triangle.
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front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

S$4n-2.-

Note:- You have four choices for each objective type qu

e%ion as A, B, C and D. The choice, which you think, is correct; fill that circle in

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

. . . < .
Area of circle with radius ' is

(D) (C) (B) (A) QUESTIONS Q-1
e o ai Lt S Bt - | a
Fraction Value Ordinate Abscissa | Point on the negative X — axIS have negative
Jn:ﬁ?j} Ju,z,,,__aﬁ‘ G J,?/;ul,g um,ﬁ,c‘_&ct,d,.,,/f(’u,;w 2
Order 0’ Different order Order 2 Same order | Surds can be multiplied, if they are of the
@ 4B —4ab 4ab 2(a? + b?) (a+b)? - (a—b)* =? 3
3 ) ! 0 -‘4_%?.?/) KJJ/?(L;/)/ 4
A cubic polyppmial is of degree=
. Y 1 . WP@)nibszP(x)x—ali|.s
tor of P(x)then P(a) =
15pqrs 3pqrs 3pqr 3qr K -c;.(uw%pqr «15qrs | -6
.C.Fa®®nqgr ,15qrs is
Fiawis | ik 1 <y % - _ HerxueM | T
Second BFITst expression 1
L.CM H.C.F 1 Brareasion
el | eotstde | cadetie | cthe eSSt | 8
Less thanor | Greater than
Equal to equal to or equal to Lessthan | The symbol < stands for.
L}"V . UJ’}' f-c‘_acb\fadcai’dfa # 0siax + b =02=blr | 9
o o . . =,
J’ u:ﬂ/;,’ b;jp 15.619/:::/.”‘ fx’ J:IL[JIA?’J'" a,b
inear
variable Solution Inequality equatiaon An equation that can be written in the form of ax + b=0,a%0
where ‘a’ and ‘b’ are constants and ' X ' is variable is called.
4 3 2 i ,wéi.)éi./d’f@uv&u» 10
The number of techniques to solve a quadratic equations is
ceerf¥x? —5x+6=0].11
-2-3) | @3 | @ @3) o |
Solutionofx?2 —5x + 6 =0 is
dnds | A oy | g e bl LA | 12
Igg:g? i‘;ﬂ?; cr:;);l:rrir:(n Row matrix | A matrix consisting of one row is called a.
360° 270° 180° 90° The sum of angles of triangle is-ﬁ;bn,;)f(uz’li.{:w 13
i g . i Bt lypiiats |14
The number of angle bisectors in a triangle is
- . - v ¢ -c‘,L"n.gJKc“- r UhES e | 15
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Answer briefly any Six parts from the followings.  6x2=12 /¢ f =iz Lizgedfctditn 240
Solve by using formula (x + y)3 — 1 (x+y)3-1 Sl @
If P(r) = 2nr, then find P(r) for r=3andn=272 g_‘_f()afp(r) Ll =2—72—»lr= 3ix P(r) = 2ar S Gi)

s P an s Gid)

Define Improper Rational expressions.

Factorize: x> +Yy — Xy — X -2":(5/2(V) Define Linear Polynomial and give examplc.-gﬁ'ﬁdﬁ‘zﬂé_é_‘/.iJg?//?(J-u.{ Gv)

Factorize: alh® +512 -’c_‘_{df (vid) Factorize: . x*+5x—-6 _édf.’ (vi)
Find L.C.M by factorization 12p3q?, 8p%qr® and 4p?q>r 12p3q?, 8p2qr3 and 4p2q®r et Firowmg s i (viii)
. Find H.C.F by factorization 4@bc3, 8a3bc, 6ab’c 4abc®,8a%bc, 6ab3c _a_‘fpl*',‘”ut;dy.’&u@ (Gix)
Answer briefly any Six parts from the followings. ox2=12 g/ 1 fez AL ge e tditn 340y
Solve lx+2|=3 S (i) Solve 3(2x+5)=25+x &/ @
Solve 3(x —2) < 2x +1 3(x-2) <2x+1 S G

g/ SEF 2 G

Solve by using Factorization Method.
4x(3x —1) -2 = (2x - 1)(5x + 1) 4x(3x—1)—2 = (2x—1)(5x + 1)
2;{/_,/"yd/(!.:«bl/d./)» W)

Write the general form of a quadratic equation.

x*—16& 67 ()

Factorize x* — 16

2 3 4 0 1 5 2 3 4 01 57 (vii)

IfA=|1 5 5(andB=|2 3 6]FindA-ZB A=[1 5 5]1)'B=[2 3 6|/
4 9 3 1 4 -2 4 9 3 1 4 -2l

A-2B.EE b 2 E S S5t

b . o )  a

IfA= [‘Z d] Then what is the additive inverse of A ~Z:()L"JF’J;'KA JA = [Z g S (iid)

A= [2 g] Then Find detA o =3 detA JA = [é g k&

Answer briefly any Six parts from the followings. 6x2=12 .u_‘/ ,;/’ :agl:?/"? J:I'thr.tjf LS5t A / Jir

.J.Ju"ifuélaﬁd/"? ®
St e s G
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Write any two properties of parallel lines:

Define “Congrucnt Polygons”

RO




Find the value of X in the given triangle:

SGP-2-25

:q/r,h'.:,Eun:ij@;

Define “Medians of a "_I“riangle”
Draw a circle of radius 2.5 cm with center at O.
If 30,72,78 represent the lengths of the sides of a triangle.
Is triangle a right triangle?

“Find the area of a triangle whose sides are 5, 12 and 13.
Find the volume of a sphere with radius 3.5 cm.

Locate these point on the number plane (-8 ,~8 )

Part II

P s Lt
e LU RS 250040 L,
—esdi g NG R S JUn78. 72300 £ ke s
L I3 125 U S £ R ek
e KEF 3 SUK Sy S
(-8,-8) &5 Bt s LS w
( -~

8x3=24

Gii)

Gv)
(9]
(vi)

(vii)
(viii)

(ix)

iz lairf o s

Note: Attempt any Three Questions.

5(a)  Findthe value of x3 +y3
Ifxy=10 andx+y =7
) FindL.CM by Factorization
1-y2y3+1,1-y-2y?
6(a) 1fP(x) = x3 — kx? + 3x + 5 is divided by
x—1, find k if remainder is 8.
) Sove m—13=vm+7
7(a)  Solve by completing the square method
x2-10x—3=0
(b) Use inversion method to solve the simultaneous
equations. Give the reason where solution is not possible
x ¥y
-4+==1
2 3
—4x+y =14
2 6 -1 -3
w wa= a7
7 8 2 0
then verify (AB)' = B*A*
(b) Constructa Rectangle whose adjacent sides arec 4cm
and 3cm.
9(a) Find the volume of circle cone with radius of base 3cm ,
altitude 10 cm.
(b)  Show that the points A(~2,11) B(~6,-3) and C(4,~9) are

of a Scalene triangle.

SEZ iy
xy=10 nix+y =7
et Prousini g f sk
1-y%y34+1,1—-y-2y?

4= 1)IP(x) = x3 — kx? + 3x + 5.1
E eIzt S
ZESfm-13=vym+7
S LGS

x4 —10x -3 =0
H SV S e 3 LS
’2-6 + %;‘ =1 ..’c.{u'l(..?un;

~4x+y =14

st S an[ 4
(AB)t = BtA*

s G sl S s b L P e b T L

U3

S5 386 LU (b f Ss ik

b A 2 10 L

LC4,-9) 1 B(-6,-3)A(-2,11) b6 S =it

B, 3P A F N

1032 - 1023 - 14000

(a)s

(b)

(a)6
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(a)7
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(a)8
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